A surveyor needs to determine the distance across the base (AB) of a mountain. This

surveyor can directly measure the lengths given below.
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Note: The figure is not drawn to scale.

Is AEDC similar to AABC? Use mathematics to justify your answer.

What is the measure of the base of the mountain?
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Two surveyors measured the distance BC across the Ballestrade River. Both ZCDBand LCFA
measure 67°. ’
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Prove that AACE is similar to ABCD,
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b. One of the surveyors measured A& = 18 meters, A5 = 38 meters, and 50 = 6
meters. The surveyor then used similar triangles to find BC. Find BC using this

surveyor’s method. Show your work. X«
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You want to estimate the height of a
tower that is supported by a wire as
shown in the diagram. Suppose that
Robert, who is exactly 6 ft tall, stands so
that his head just touches the wire.
When he does this, he is 10 ft from the
point where the wire touches the ground
and 25 ft from the center of the base of
the tower. Use this information to
determine the approximate height of the
tower.
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In the figure given to the left, AABC Is similar to
APOQR.
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Directions: Solve for x, be sure to show your proportion.
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Solve for x:
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1. A quadrilateral has vertices A(-9,-6) B(6,-6) C(6,-9) D(-9,-9).
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Length | Length | Length | Length | Perimeter | Area
AB BC CD DA
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a. Apply a dilation of D ( 3 B)" Give the new coordinates, and graph , =
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c. How does the image area relate to the original area and & ?



The solid is similar to a larger solid with the given scale factor. Find the
surface area of the larger solid
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Use the given information about the two similar solids to find their scale factor.
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